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Using mesh analysis find 
 
(a) The mesh currents I1, I2, I3  ? 
 

(b) the voltage v(t)  ? 
 

Solution 
 

3
4 A  (by inspection)= −I  

 
KVL on the super mesh    
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(c) KVL on the first mesh  
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OR  KVL on the second mesh  
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Problem 3 
 

L

 

v (t)   
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v (t)=10cos(2t + 30 )   V 3 Ω
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Using the Thevenin Reduction Method only, find  

L
v (t)   the voltage across the load resistor 3 Ω  ? 

 
Solution 
 
Transferring the circuit to the phasor domain 
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Finding the Thevenin equivalent 
 
Removing the load resistant 
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Deactivating the source (shorting it) 
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Using Voltage division 
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  v (t)=6cos(2t + 83.13 )   V⇒  


